[ number of missing inner layers |

[ number of missing outer layers |

1 Entries 4886 1, Entries 4886
E Mean 0.2122 Mean 1.756
F Std Dev 0.4178 Std Dev 2.326
= HE I _ : I
10 lg_ """"""""" Entries 5271 10 l_ """"""""""""" Entries 5271
F Mean 0.2237 F Mean 1.748
C Std Dev 0.4244 C Std Dev 2.318
7 O S O S DU U P 7 O S S PP
10 3 Entrles 5271 10 3 Entries 5271
F Mean 0.2237 F Mean 1.748
o Std Dev 0.4244 o Std Dev 2.318
10*3 SRRMRREERLEE RN REED feebeerieee i i s 10*32— ----------------------------------------------
10—4 E_ .................................................. 10—4 E_ ..............................................
10_5 E_ .................................................. 10_5 E_ ..............................................
.910I6l_....!.... APETY YR PR PETTE PrET A P 01016¢_
= F = F
© o —_—— © o
o 1.05f--------- ¥ 1.05p
e =
095 0.95E
0 05 115 2 25 3 35 4 45 5 0
m—— DQM_mkFit_TT_baseR3_noSel_ok
—| =—e== DQM_mkFit_TT_base_8iter_noSel_ok
@ — DQM_mKkFit_TT_Retrainv2_8iter_noSel_ok
— F 7 Entries 4886
%) L | Mean 13.22
> L .+ Std Dev 5.333
A | : : I
2 + | Entries 5271
ey > + | Mean 13.11
v 10°E:: { std Dev .
a 1
.9u.C:""!""!""!""!""""' o ;.u; ! i i
= [ : . : = E : : : : :
& + : m : § 12f b 1
f i ” sttt Il ot
0'95-1 B ’ * B | 1:_' '++ """" + l """" B b P
=3 -2 1 2 0 5 10 15 20 25 30 35 40

track n
[ N of simulated tracks vs pT |
Entries 143225
S L A Mean 2.115
10 Std Dev 5.971
: I
= Entries 143225
ol Ny ] Mean 2.115
10 E Std Dev 5.971
E ; T
L Entries 143225
_ Mean 2.115
107 N Std Dev 5.971
10—4 E_ ------------------------------------ -----------
10°° R -l_ """
T IR R R —
g T
o 1111111111111111“”:' :
*-[TTTTTTTTTTTT”T”||E||||‘
05— ’ v .
10 1 10 10 P pZI.O

track hits

Entries 51739
Mean 2.251
Std Dev 19.95
""""""""""""""" ]
Entries 54673
Mean 2.038

Std Dev

......................




	Contents
	Page 1


